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b) Solve the nonhomogeneoys differentia) equation
¥ miy =3 2a —=28% L5
Question 2 [4,3]. a) If y; & o=

e® is a solution of the differentia] equation
—

Vit ey ,

then yse reduction of order me

thod to obtajn its genera] solution,
b) Determine a homogeneoys linear differentia] equation
coeflicientgy having the fundamenta gef of soly

with constant
tions:

NFEL wm= &z, | yo ==l Feosz,

Ya = e *sing, Ys = 5z°

Question 3 [5] Find the general solution of the differentia] equation
" 9,/ 2 3.3
T —2+ Zy = 3, +2z; z> .
T

Question 4 [5]

Solve the following linear system of diffore

162" —y =
Y — 16z — 32¢

ntial equations.
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